

Shape preserving approximation in vector ordered spaces[☆]

George A. Anastassiou^{a,*}, Sorin G. Gal^b

^aDepartment of Mathematical Sciences, The University of Memphis, Memphis, TN 38152, USA

^bDepartment of Mathematics, University of Oradea, Str. Armatei Române 5, 410087 Oradea, Romania

Received 3 March 2005; accepted 7 March 2005

Abstract

The aim of this note is to extend some classical results on the shape preserving approximation of real functions (of real variables) to functions with values in ordered vector spaces.

© 2005 Elsevier Ltd. All rights reserved.

MSC: 41A65; 41A25; 41A29

Keywords: Vector valued functions; Generalized polynomials; Ordered vector space; Shape preserving approximation

1. Introduction

Like in the case of real valued functions, firstly we can introduce the following concepts.

Definition 1.1. (i) Let $(X, \|\cdot\|)$ be a real normed space.

A generalized algebraic polynomial of degree $\leq n$, with coefficients in X is an expression of the form $P_n(x) = \sum_{k=0}^n c_k x^k$, where $c_k \in X$, $k = 0, \dots, n$, and $x \in [a, b]$.

(ii) For $f : [-1, 1] \rightarrow X$, the uniform k th Ditzian–Totik modulus of smoothness of f on $[-1, 1]$ is given by

$$\omega_{\phi}^k(f; \delta)_{+\infty} = \sup_{0 \leq h \leq \delta} \|\overline{\Delta}_{h\phi(x)}^k f(x)\|_{+\infty},$$

[☆] This paper was written during the 2005 Spring Semester when the second author was a Visiting Professor at the Department of Mathematical Sciences, The University of Memphis, TN, USA.

* Corresponding author.

E-mail addresses: ganastss@memphis.edu (G.A. Anastassiou), galso@uoradea.ro (S.G. Gal).

where $\phi^2(x) = 1 - x^2$ and $\overline{\Delta}_h^k f(x) = \sum_{j=0}^k (-1)^j \binom{k}{j} f(x + kh/2 - jh)$, if $x, x \pm kh/2 \in [-1, 1]$, and $\overline{\Delta}_h^k f(x) = 0$, otherwise. Here $\|f\|_\infty = \sup\{\|f(x)\|; x \in [-1, 1]\}$.

(iii) For $f : [-1, 1] \rightarrow X$, the uniform k th modulus of smoothness is given by

$$\omega_k(f; \delta)_\infty = \sup_{0 \leq h \leq \delta} \{\sup\{\|\Delta_h^k f(x)\|; x, x + kh \in [-1, 1]\}\}.$$

$$\text{Here } \Delta_h^k f(x) = \sum_{j=0}^k (-1)^{k-j} \binom{k}{j} f(x + jh).$$

The main result deals with some shape preserving approximation results for generalized polynomials for $f : [-1, 1] \rightarrow X$, when $(X, \|\cdot\|, \leq)$ is a normed space endowed with a structure of a ordered linear space. We thus extend the classical result for the case of real functions of real variables in [3].

The main tool used in our proof is based on the following well-known result in Functional Analysis.

Theorem 1.2. Let $(X, \|\cdot\|)$ be a normed space over the real or complex numbers and denote by X^* the conjugate space of X . Then, $\|x\| = \sup\{|x^*(x)| : x^* \in X^*, \|x^*\| \leq 1\}$, for all $x \in X$.

2. Shape preserving approximation

In this section, $(X, \|\cdot\|, \leq_X)$ is a normed space such that \leq_X is an order relation on X which satisfies the conditions

$$\begin{aligned} x \leq_X y, 0 \leq \alpha, & \text{ imply } \alpha x \leq_X \alpha y; \\ x \leq_X y \text{ and } u \leq_X v & \text{ imply } x + u \leq_X y + v. \end{aligned}$$

Definition 2.1. Let $f : [a, b] \rightarrow X$.

- (i) f is called increasing on $[a, b]$ if $x \leq y$ implies $f(x) \leq_X f(y)$;
- (ii) f is called convex on $[a, b]$ if

$$f(\lambda x + (1 - \lambda)y) \leq_X \lambda f(x) + (1 - \lambda)f(y), \forall x, y \in [a, b], \lambda \in [0, 1].$$

The main result is the following:

Theorem 2.2. There exists an absolute constant $C > 0$ such that for any convex function $f : [-1, 1] \rightarrow X$ and every $n \in \mathbb{N}$, there is a convex generalized algebraic polynomial $P_n(x)$, of degree $\leq n$, such that

$$\|f - P_n\|_\infty \leq C\omega_\phi^2(f; 1/n)_\infty$$

and

$$\|f(x) - P_n(x)\| \leq C\omega^2\left(f; \sqrt{1 - x^2}/n\right)_\infty, \quad x \in [-1, 1].$$

If, in addition, f is increasing, then so is P_n .

Proof. As suggested by the case of real valued functions (see [3]), let us define the generalized algebraic polynomial of degree $\leq n$ by

$$P_n(f)(x) = f(-1) + \sum_{j=0}^{n-1} s_j [R_j(x) - R_{j+1}(x)],$$

Download English Version:

<https://daneshyari.com/en/article/10678396>

Download Persian Version:

<https://daneshyari.com/article/10678396>

[Daneshyari.com](https://daneshyari.com)